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Grade 6 Module 5 Lesson 1

Area of Parallelograms 

<­Turn the mixed numbers to improper
<­Multiply straight across
<­ Divide to convert the improper fraction 
to a mixed number
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<­Turn the mixed numbers to improper

<­Multiply straight across
<­ Divide to convert the improper fraction 
to a mixed number
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means lines that create 90 
degree angles

Yes because 15 * 8 = 120 feet squared. for the rectangle.

For the parallelogram: Base is 15, height is 8. We know that 15 * 8 = 120 feet square.

There areas are equal.
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